Fake rate vs hit
0.8,

Duplicates Rate vs hit

0.0;

Pileup rate vs hit

: F f=
o7k 0.018F [
F 0.016F L
0.6 E 0.8_
b 0.014fF [
0.5F 0.012F 0.6
0.4F 0.01 [
03F 0.008F 04l
E 0.006F I
0.2 h o I
b ¢ 0.004F 0.2
ER TRR AR PG e 0.002F F
| A T PN O OO wafean ok ok
1.05- - H i3
£ 0.9 -t =
0.95F - 8 0.8 -FF . . . . : e
95 10 15 20 25 30 35 40 0 5 10 15 20 25 30 35 40 095
—— Oy’ toTig— ™
ST 1| [o) S .
== ﬁa‘yt%g/‘g/ Frlog s
[Fakeratevs i —— de acne ori
0.8 0.0%
07 0.009F
0.008f
0.6} E
0.007f
0.5 0.006F-
0.4 0.005F
03l 0.004F-
0.003F
0.2] E
0.002F
01 0.00-
o) oF
o
1 09f-- 1
0.8f - -
0. 50 0.:0

Fake rate vs layer

0.
0.18
0.16
0.14
0.12

0.1
0.08F1
0.06
0.04
0.02

T

1.8

Fake rate vs 3D layer

1

0.8]

0.6|

0.4

0.2-

8

=54 6 8 10 12 14 16

18 20

[ Duplicates Rate vs pixel layer |

0.01

Duplicates Rate vs layer

0.0%

0.009]
0.008]
0.007]
0.006
0.005j
0.004]
0.003]
0.002]
0.00%

q
0.8f--~-|-

o6 --= -

0 2 4 6

8 10 12 14 16 18 20

0.4

!

0.8

0.6

0.4

0.2

10 12 14 16 18 20



	Contents
	Page 1


